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const int MAXM=4e4+5,MAXC= ;
int dp[MAXM|,v I MAXC],w MAXC];
int main

int n=read int(),m=read int(),cnt=0;
_for(i,0,n
int a=read int(),b=read int(),c=read int();
int j=1;j<c;j<<=
vicntl=j*a,wlcnt++=j*b;
c-=1,

vicnt|=c*a,w/cnt++]|=c*b;

_for(i,0,cnt

int j=m;j>=w(il;j--
dpljl=max(dpljl,dplj-wiill+v[i]);
enter(dpim]);
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$$ \text{dp}(i,j)=\max_{j-d(t_i-t_{i-1})\le k\le j+d(t_i-t {i-1})}\text{dp}(i-1,k)+b_i-\vert a_i-j\vert $$
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const int MAXN=15e4+5;
const LL Inf=1el8;

LL dp MAXN] ;

int que[MAXN];

int main

int n=read int(),m=read int(),d=read int(),pos=0,last=1;

m__
int a=read int(),b=read int(),t=read int()-last;
pos=!pos;

int i=1,rpos=1,head=0,tail=1;i<=n;i++
head>=tail&&que|tail | <i-1LL*t*d)tail++;
rpos<=n&&rpos<=i+1LL*t*d
head>=tail&&dp| !pos| [quelhead]| |<=dp|!pos| | rpos!)head-

que|++head |=rpos++;
dplpos| il=dp[!pos![queltail]|+b-abs(a-1i);
last+=t;
LL ans=-Inf;
_rep(i,1,n

ans=max(ans,dp/pos![i]);
enter(ans);
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$$ \text{dp} {jw+r}=\max_{k\le c}(\text{dp} {jw+r-kw}+kv)=\max_{k\le c}(\text{dp} {(j-k)w+r}-
(j-k)V)+jv $$
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const int MAXM=4e4+5,MAXC= ;
int dp/MAXM];

pair<int,int> que MAXM];

int main

int n=read int(),m=read int();

_for(i,0,n
int v=read int(),w=read int(),c=read int();
_for(j,0,w

m<j ;
int posl=(m-j)/w,pos2=posl,head=0,tail=1;
int k=0;pos2>=0&8k<=C;p0s2- -, k++
int t=dp|/pos2*w+j|-pos2*v;
head>=tail&&que|head].second<=t)head--;
que|++head |=make pair(pos2,t);

;posl>=0;posl--
que|tail].first>posl)tail++;
dp/posl*w+j|=max(dp/posl*w+j|,queltail].second+posl*v);
pos2< ;
int t=dpl[pos2*w+j|-pos2*v;
head>=tail&&que|head|.second<=t)head- -;
que|++head | =make pair(pos2,t);
pos2--;
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enter(dpim]);
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